(Rudin Ch2. on connectedness.) Recall: · a topological space : a set X, together with a collection of subsets of X, called open subsets. such that · X, Ø are open · U Ux is open, A avibitiary index set., Ux open. · ( U: is open. (finite intersection) · Given a top. space X, and SCX, we endow S with the induced topology: UCS is open iff JUCX, open in X, s.t. u=ũnS. EX: X=R, S=ZCR. with induced topology on S,  $\forall n \in \mathbb{Z}, \{n\} \}$  is open in S  $pf: \{n\} = (n - \frac{1}{2}, n + \frac{1}{2}) \}$  $E_X$ : X=R, S=[0,1). Then S is open in S. S is not open in X. Cor: (a) If SCX is open in X, then UCS is open inS iff U is open in X. (b) If SCX is closed in X, then ECS is closed in S if E is dosed in X.

Ex. X = IR,  $S = (o_1 I)$ .  $U = (\frac{1}{3}, \frac{1}{2}) \subset S$ . U is open in S. U is open in X X=R, S=[0,1].  $U=[0,\frac{1}{2}]CS$ , U is closed in S and U is closed in X. Pf: (a) UCS open in  $S \Rightarrow UCS$  open in X. By def, U= UNS, for some UCX open in X. since I and S are both open in X, hence U is open in X. ∉ if U is open in X, then U= UNS Hence U is open in S. (b) similar. Recall : A top. space X is connected if the only subsets of X that is both open and closed are X and P. disjoint union · X is not connected iff X = UIIV U.V are non-empty open subset of X Subspace" Def: A Let X be a top. space. ECX subset with induced E is a connected subset iff E as a top. space is connected. Lemma : E is connected iff E cannot be written as AUB.

where  $\overline{A}\overline{D}B = \overline{\phi}$ , and  $\overline{A}\overline{D}B = \overline{\phi}$ . (equivalence of definition with Rudin). (f here, closure are taken w.r.t. ambient) space X. Pf: =>. By to Prove by contradiction. Suppose E = AUB, AOB = ¢. then.  $A = \overline{A} \cap \overline{E}$ , hence  $\overline{A}$  is closed in  $\overline{E}$ ,  $\overline{A} \cap \overline{B} = \phi$ ,  $(: \overline{A} \cap E = \overline{A} \cap (A \cup B) = (\overline{A} \cap \overline{A}) \cup (\overline{A} \cup \overline{B}) = A \cup \phi = A).$ Similarly, B is closed in E. : A = E\B, i. A is also D'Hence, E is not connected. contradiction. t as exercise. Rudin Thm (2.47) ECR is connected ⇐> ♥∀ x,y ∈ E, x < y. we have [x,y] ⊂ E.</p>  $Pf': \Rightarrow$  Prove by contradiction. Suppose  $\exists X, Y \in E$ , X = Y, such [XIY] \$\vec{F}\$E. This means, ]ZE[X,Y], Sit. ZEE. Since XyEE.  $E \in (X, y),$  let  $A = E \cap (-\varphi, z), B = E \cap (z, +\varphi).$ Then, A, B are open in E., and non-empty. (XEA, YEB). and E=AUB. Here E is not connected. Contradiction! F Prove by contradoction. Suppose E = A II B, A.B. non-empty, disjoint open subsets in E. Pick XEA, and YEB. WLOG, assume X<Y. Then, by pypothesis, EX, YICE. Let  $A = [x,y] \cap A$   $B = [x,y] \cap B$  (E)(J)β= [x,y] ∩ B. X Since A, B are both open and closed in E. Hence A,B are both open and dosed in Ex,y].

Since [Xiy] is closed in R, A, B are also closed in R. Let  $Z = \sup(\tilde{A})$ . Since  $\tilde{A}$  is closed and bounded in  $\mathbb{R}$ , ZEÃ. ZXY, since YEB, YEÃ, Hence (Z,y] CB. Since  $\tilde{B}$  is closed, in  $(\overline{z}, y] \subset \tilde{B}$ ,  $\overline{z} \in [\overline{z}, y] = \overline{(\overline{z}, y]} \subset \tilde{B}$ . Thus, ZEA and ZEB, contradiction with ANB=0. H Return to Ch4. Continuous for and connectedness. Recall: If f: X > Y is cont, ECX is connected. then f(E) in Y is connected. In the special case, f: R-R continuous. Ihm: If  $f: [a,b] \rightarrow \mathbb{R}$  is cont. and if f(a) < f(b). and C is such that f(a) < c < f(b), Then I X E (a,b).  $s_{x+1}$ , f(x) = c. fub fub <u>Pf:</u> · Since [a, b] C R is connected, we have f([a, b]) C R is connected. • Since f(a),  $f(b) \in f([a, b])$ , hence by Thm 2.47.

 $[f(a), f(b)] \subset f([a, b]).$ In particular, if  $C \in (f(a), f(b))$ , then  $C \in f([a, b])$ Let  $\chi \in [a, b]$ , s.t. f(x) = C. Then  $x \neq a, b$ . Hence XE (a, b)\_ # Discontinuity for real valued functions: Recall: f: X -> Y is discontinuous at XEX. if and only if x is a limit point of X., and  $\lim_{q \to \infty} f(q) \quad des either \quad doesn't exist or. \\ does not equal to f(x).$ (not necessarily continuous) <u>Def</u>: Let  $f: (a, b) \rightarrow \mathbb{R}$ . •  $\forall x \in [a,b)$ , we say f(x+) = q, if for all seq (tn) in (X,b) that converge to x, we have limit  $\lim_{n \to \infty} f(t_n) = \gamma$ . - ( Prince ) a <sup>x</sup> b · HXE (a,b], we say f(X-)=q, if for all seq (ta) in ( to a, x). Converging to X, we have  $\lim_{n \to \infty} f(t_n) = q$ Equivalently, one can use E-S language. For example,

$$f(x_{1}) = q \quad iff \quad \forall z > e, \quad \exists z > e, \quad z_{1}, \quad \forall \quad t \in (x - \delta, x) \cap (q, b)$$

$$[f(t_{0}) - q] < z.$$

$$Say \quad f(x_{1}) : \quad He \quad right \quad limit \quad off \quad f \quad et \quad x.$$

$$f(x_{2}) \quad \dots \quad (eft \quad \dots \quad eft \quad e(a, b), \quad Suppose \quad f \quad is$$

$$not \quad continuous \quad at \quad x_{a} \quad (1 \leq k \text{ ind } discontinuety \quad et \quad x_{a}, \quad if \quad both \quad f(x_{a}) \quad ad \quad f(x_{a}) \quad exists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad (i \in e, \quad a \text{ itsus } f(x_{a}) = f(x_{a}) \quad erists. \quad ($$

